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QUESTION 1

You are designing a Layer 3 fabric underlay using EBGP. You will implement an E VPN- signaled VXLAN overlay on the
Layer 3 fabric.

In this scenario, what must you do in the underlay to ensure that the VXLAN overlay will be able to function properly?
A. The underlay should support the PIM protocol

B. Each device in the underlay should advertise its loopback address

C. The underlay should be configured with a separate VRF tor each potential tenant

D. The underlay should advertise the host connected interlaces on all leaf device

Correct Answer: B

QUESTION 2

You are configuring a DCI VPN solution between sites that require an L3VPN to work with your EVPN deployment. Your
organization\\'s policy restricts configuring RSVP and LDP on your WAN links. While configuring the solution, you notice
that no routes exist in the inet table. In this scenario, which parameter will solve this problem?

A. bgp family inet labeled-unicast per-group-label

B. bgp family inet labeled-unicast aggregate-label

C. bgp family inet labeled-unicast resolve-vpn

D. bgp family evpn signaling

Correct Answer: D

QUESTION 3

A company wants to expect their hosting business and is seeking solutions to supported multiple tenants. Each tenant
should be able to configure their own logical interfaces. Also, based on customer needs, all routing features must be
supported.

What will satisfy the customer\\'s requirements?

A. Bridge domains

B. Tenant systems

C. Logical systems

D. Routing instances
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Correct Answer: C

QUESTION 4

Which two statements are true about VRF routing instances? (Choose two.)
A. VRF can be used in conjunction with Layer 3 logical interfaces.

B. Each logical Layer 3 interface can belong to only one routing instance.
C. Each logical Layer 3 interface can belong to multiple routing instances.
D. VRF does not enable multitenancy.

Correct Answer: AB

QUESTION 5

Which two statements about ZTP are true? (Choose two.)

A. The image storage service and the DHCP server can be running on different server hosts.

B. When a switch is booted. DHCP requests are sent only through the management Ethernet interface.

C. The image storage service must be running on the same server host where the DHCP service is running.

D. When a switch is booted, DHCP requests are sent through the management interface as well as attached revenue
ports.

Correct Answer: AB
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